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Two pipes A and B can fill a tank in 36 hrs
and 45 hrs. If both the pipes are opened
together, then how much time will be taken
to fill the tank?
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(A) 25 hrs (B) 20 hrs

(C) 15 hrs (D) 30 hrs

A pipe can fill a tank in 15 hrs. Due to leakage

in the bottom it is filled in 20 hrs. If the tank is
full, how much time leakage take to empty it?
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(A) 50 hrs (B) 60 hrs
(C) 45 hrs (D) 65 hrs

Two pipes A and B can fill a tank in 1 hr and
75 min respectively. There is also on outlet
C. If all the three pipes are open together,
the tank is filled in 50 mins. How much time
will be taken by C to empty the full tank?
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(A) 1 hr 40 minutes (B) 1 hr 44 minutes
(C) 1 hr 45 minutes (D) 1 hr 46 minutes
Two pipe A and B can f{ill a tank in 24 min
and 32 min respectively. If both pipes are
opened together then after how much time
pipe B can be closed so that the tank is filled
in 18 mins?
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(A) 7 mins (B) 9 mins

(C) 6 mins (D) 8 mins
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There is leakage in a tank. After the tank is

1
repaired it takes 35 hr to fill it. But with

leakage it takes half an hour more. If the
tank is full, then how long would the leakage
take to empty it?

Tk 3% &1 el § it €1 S| I Wi Sk e e
Bl S%Wﬁmwél g, ol
A ety 7 d% A e A L e
o 21 AfE 3 QU 9 @ Al ol s9 fRad wHa
¥ ©reft X gl 7?2

(A) 25 hrs (B) 20 hrs

(C) 28 hrs (D) 30 hrs

A Pipe can fill a tank in 12 min and other in
15 min and a third pipe can empty it in 6
min, the first two pipes are open for 5 mins
in beginning then third pipe is also open. In
what time the tank will be emptied?
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(A) 45 minutes (B) 44 minutes
(C) 42 minutes (D) 48 minutes

A, B and C are three pipes connected to a
tank. A and B fill the tank in 6 hrs, B and C
in 10 hrs, C and A in 7 hrs 30 mins. In how
much time A, B and C fill the tank separately?
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(A) S hrs (B) 6 hrs

(C) 8 hrs (D) 9 hrs
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Three pipes A, B, C are connected to a tank,
they fill the tank in 12 hrs, 15 hrs and 20
hrs. If all the three pipes are opened at 7am
, 8am and 10 am, at what time tank will be

filled? T T A, B 3R ¢ Rt 3%
92 T A IF HIHUA: 12 0L, 15 T0S 3R 20 0L
¥ R Thd 21 A Al 1 FHE: G 7 9, 8 A,
10 = @iell S B1 Al O fope a9 9w STa?
(A) 11:50 am (B) 12:50 pm

(C) 01:50 pm (D) 02:50 pm

Two pipe A and B can fill a tank in 15 hrs and
12 hrs and pipe C can empty it in 4 hrs. If
all three pipes are opened at 8 am, 9 am,

and 11 am. Then at what time tank will be
emptied?
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(A) 01:50 pm (B) 02:50 pm

(C) 01:40 pm (D) 02:40 pm

A tank has two pipes A and B connected to
it. A can fill the tank in 20 mins and B can
empty in 30 mins. If A and B are opened

alternately for one minutes each. In what
time tank will be filled?
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(A) 110 minutes (B) 120 minutes
(C) 140 minutes (D) 130 minutes

A and B are two pipes connected to a tank.
The first pipe can fill it in 45 mins and
second pipe can empty it in 1 hr. In what
time the empty tank can be filled if both pipe
are opened one at a time in alternate mins?
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(A) 2 hours 55 minutes

(B) 3 hours 40 minutes

(C) 4 hours 48 minutes
(

D) 5 hours 53 minutes
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A, B and C are 3 pipes connected to a tank.
A and B can fill it in 20 min and 30 min
respectively while C can empty it in 15 min.
If A, B and C are kept open successively for
one min each, how soon tank will be filled?
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(A) 2 hours 47 minutes

(B) 2 hours 45 minutes

(C) 2 hours 50 minutes

(D) 2 hours 55 minutes

In what time will a tank be filled by 3 pipes

. 1
whose diameters are 1 cm, 15 cm, 2 cm

respectively running together when the
largest pipe fill it in 61 mins. The rate of
amount of water flowing through each pipe
is directly proportional to square of their
diameter/radius?
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(A) 18 minutes (B) 30 minutes

(C) 36 minutes (D) 20 minutes

The 3 pipes are 2 cm, 3 cm, 4 cm in
diameter. The rate of amount of water
flowing through each pipe is directly
proportional to square of their diameter. If
all the 3 pipes are opened together then
tank is filled in 72/29 mins. In how much
time smallest pipe will fill the tank alone?
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(A) 18 minutes (B) 30 minutes

(C) 36 minutes (D) None of these
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Pipe A fills a tank in 3 hrs while B empties
it in 5 hrs. If both the taps are opened the
portion of the tank filled in 80 min is ?
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A ! B i

() 45 B) 45
11

(C) — (D) None of these
45

There is a leak in the bottom of a cistern.

1
Before the leak, it could be filled in 45 hrs.

1
It now takes 3 hr longer. If the cistern is full,

in how much time would the leakage empty
the full cistern?
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(A) 40 hrs (B) 42 hrs
(C) 45 hrs (D) None of these

If %th of a cistern is filled in 1 min, the time

needed to fill the rest is:
aﬁz‘aﬁaﬂg o7 1 foFe | o) ST R @ S gen
am foras o9 | S Sam?
A

(A) lminute 10 seconds
(B) 1minute 30 seconds
(

C) lminute 20 seconds
(D) 1minute 40 seconds

A tank has a leak which would empty the
completely filled tank in 10 hrs. If the tank
is full of water and a tap is opened which fills
4 litre of water per minute in the tank, the
leak takes 15 hrs to empty the tank. How
many litres of water does the tank hold?
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(A) 4500 litre (B) 7200 litre

(C) 3600 litre (D) 6400 litre

Pipe P and Q can f{ill a tank in 10 hrs and
12 hrs respectively and C can empty it in 6
hrs. If all the three are opened at 7 a.m., At
what time will one- fourth of the tank be
filled?

TEY P AR Q THE <) 1 HEw: 10 qen 12 WS H
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(A) 11 pm (B) 9 pm
(C) 10 pm (D) 8 pm

Two taps P and Q can each fill an empty tank
in 5 hours and 6 hours respectively. A third tap
R can empty the full tank in 12 hours. If all
three of them operate alternately in the order
P, Q, R for one hour each, starting with P, in

how much time will an empty tank be filled?
T AT P AN Q UF WIail 2t I HHI’: 15 T 20
fie & R whd T T 90 T R 2@ 30 T o
el T Geha 21 4fs gt 7 p,Q, R FH U aW-awl
TH-TF e & fau @ S a @t 2ot o
T H qan?
10 10
(A) 11; hours (B) 10; hours

10
(©) 9; hours (D) None of these
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